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Seat No.: ________                                                      Enrolment No.______________ 
 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER – V • EXAMINATION – WINTER 2012 

 
Subject code: 352904 Date:  28/12/2012 
Subject Name: Production Planning 
Time: 10.30 am - 01.00 pm Total Marks: 70 
Instructions: 

1. Attempt any five questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks. 
4. English version is considered to be Authentic.                                                                                      

 
Q.1 (a) Write down the objectives of production planning 07 

 (b) Write down factors affecting the selection of site for textile industry 07 
Q.2    

 (a) Write down the advantages of production planning 07 
 (b) Write down the objectives of scientific lay out 07 
  OR  
 (b) Calculate the time required to prepare one lap in blow room from 

following data 
Lap length-45 yards, tension draft-1.08, calendar roller dia-7” , 
calendar roller RPM-8 RPM, Efficiency – 80%  

07 

Q.3    
 (a) Write down Factors affecting scientific lay out 07 
 (b) Write down the different methods of lay out 07 
  OR  

Q.3 (a) Calculate the  time required to fill up one can in drawing frame  
from following data 
Speed -600YPM, Wt of drawn sliver in can -11Kg, Eff-85%, hank 
of drawn sliver 0.15 

07 

 (b) Calculate the time required to fill up one can in carding machine 
from following data. 
Doffer dia- 27”, Wt of card sliver in can – 10Kg, Doffer RPM – 25 
RPM, Efficiency – 80%, Hank of cad sliver 0.016 

07 

    
Q.4    

 (a) Calculate the required no of ring frame spindle for production of 
2000 kg of 30’s carded yarn in one shift  from following dat 
TPI- 25, Draft-22, Eff – 90%, spindle speed – 12500,  
contraction – 6%, waste % - 3 

07 

 (b) For Q.4(a) calculate the no of speed frame spindle with following 
data 
Spindle speed- 1000 RPM, Eff – 80%, TPI- 1.3  

07 

  OR  
Q. 4 (a) Calculate the time required to build one cone of 2.5Kg while 

winding machine running with 1000YPM and working with 80% 
eff. 
Take count of yarn 40’s Ne 

07 

 (b) Calculate the time required to prepare one warping beam with 
following data 

07 
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Speed 600 YPM, length of yarn in beam12000 yard, eff – 80%,  
    

Q.5    
 (a) State the importance of humidity in Textile industry 07 
 (b) Calculate the weight of one weavers beam from following data. 

Length of yarn sheet – 1200 yard, No of ends in beam – 3660, count 
of yarn 40’s Ne 

07 

  OR  
Q.5  Calculate no of looms and sizing machine required for production of 

40,000 yards of shirting fabric/day with following data 
R.S. 50”, Reed count – 76,piks/inch - 80 Selvedge ¼”, No of ends / 
dent 4(for selvedge, and 2 for Body of fabric),  loom speed -300 
RPM, eff of loom – 90%, sizing machine speed 50 RPM sizing 
machine eff- 60% 

14 

 
************ 

 
5|`Gv! V ̆ોડƈશન Ɯલાનӄગ ના હȱઓ લખો° ુ  07 

 A ટëટાઇલ ઉધોગ માટ ƨથળ પસંદગી ન અસર કરતા પર�બળો ° ° ે

જણાવો 

07 

    
5|`GvZ V ̆ોડƈશન Ɯલાનӄગ ના ફાયદા જણાવો 07 

 A સાơનટ�ફ�ક લે-આઉટ ના હȱઓ લખો° ુ  07 
  VYJF  
 A િનચની મા�હતી પર થી  ƞલોĮમ મા ંે 1 લપ બનતા કે °ટલો સમય 

લાગશ ત જણાવોે ે . 
Lap length-45 yards, tension draft-1.08, calendar roller dia-7” , 
calendar roller RPM-8 RPM, Efficiency – 80% 

07 

    
5|`Gv# V સાơનટ�ફ�ક લે-આઉટ ન અસર કરતા પર�બળો જણાવોે  07 

 A લે-આઉટ ની અલગ અલગ Ɯƚધતી જણાવો 07 
  VYJF  
    

5|`Gv# V ˾ોઇગ̇મ મા ંએક કન ભરાતા કટલો સમય લાગશ ત િનચની મા�હતી ° ° ° ે ે ે

પર થી જણાવો 
Speed -600YPM, Wt of drawn sliver in can -11Kg, Eff-85%, hank 
of drawn sliver 0.15 

07 

 A કાડ�ગ મા ંએક કન ભરાતા કટલો સમય લાગશ ત િનચની મા�હતી  ° ° ે ે ે

પર થી જણાવો  
Doffer dia- 27”, Wt of card sliver in can – 10Kg, Doffer RPM – 25 
RPM, Efficiency – 80%, Hank of cad sliver 0.016 
 

07 

5|`Gv$ V 30 ના કાઉƛટ ȵ ુ2000 �કલો યાન½ બનાવવા કટલા રӄગ �ƨપ�ડલ °

જોઇશ ત િનચની માહ�તી પર થી જણાવોે ે ે . 
TPI- 25, Draft-22, Eff – 90%, spindle speed – 12500,  
contraction – 6%, waste % - 3 

07 
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 A ̆ĕ-4 અ મા ંકટલા ƨપીડ ̇મ �ƨપ�ડલ જોઇશ ત િનચની માહ�તી પર ° ° ે ે ે

થી જણાવો. 
Spindle speed- 1000 RPM, Eff – 80%, TPI- 1.3 

07 

  VYJF  
    

5|`Gv$ V Ԍયાર વાƛડ�ગ મશીન ° 1000 YPM અન ે 80% કાય½ëમતા પર કામ 

કરȱ હોયુ  Ɨયાર ° 2,5 �કલો ȵ એક કોન બનતા કટલો સમય લાગશ ત ુ ° ે ે

જણાવો. યાન½ નો કાઉƛટ 40 લો 

07 

 A િનચની મા�હતી પર થી એક વાપ�ગ બનતા કટલો સમય લાગશ ત ે ે ે°

Əણાવો. 
Speed 600 YPM, length of yarn in beam12000 yard, eff – 80%, 

07 

    
    

5|`Gv5 V ɖમીડ�ટ� ȵ ટëટાઇલુ ુ °  મા મહƗવ જણાવો. 07 
 A િનચની માહ�તી પર થી એક િવવર �બમ ȵ વજન ગણોે ુ . 

Length of yarn sheet – 1200 yard, No of ends in beam – 3660, count 
of yarn 40’s Ne 

07 

  VYJF  
    

5|`Gv5  એક �દવસ મા ં40,000 યાડ½ કાપડ બનાવવા કટલા ɀમ અન ° ુ ે

સાઇ�જ�ગ મિશન જોઇશ ત નીચની માહ�તી ે ે ે પર થી જણાવો.
      
R.S. 50”, Reed count – 76,piks/inch - 80 Selvedge ¼”, No of ends / 
dent 4(for selvedge, and 2 for Body of fabric),  loom speed -300 
RPM, eff of loom – 90%, sizing machine speed 50 RPM sizing 
machine eff- 60% 

14 

 
************ 
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